


2. xoll e oFHA 3 +ax? +bx+ 3 (x-1)? = S o Y27}
2x + 10] =5 A a - b O] gL Fotofeh

>

> ®EeH: 1

B ‘
A} Ag7t 10|22

X3 +ax?+bx+3

=(x-1)2(x+k)+2x+1

=x3+ (k-2)x*+ (3-2k)x+k+1

FH O] A4E vl s

a=k-2,b=3-2k 3=k+1

k=20BE24=0, b=-1

L a-b=0-(-1)=1




f(x) =3x8 +ax? +bx— 127t x— 1 2= Ylpo] Wo2| 1, x+ 12
UEe s YA 7t —140lth, A4 g, b2l F ab 2] H2?

® -12 @ 12 ® -20 @20 ® -36

~&B

Uz Aol o8l f(1) =0, f(-1) = -14
f)=3+a+b-12=0---O
f(-1)=-3+a-b-12=-14---Q

O, @QE dHstH,a=5b=4

..oab =20




4 x—- 12 UHrH U2 = —40]0, I & x+22
FH YUz 20|t} oluf, f(x)E x+ 22 ‘)rE o] Y&
SHA 2.




xo et ot f(x) 5 (x—a)(x +b), (x+b)(x - —o)(x -
2 UEUHANL A2 x+2, —x+4, 0€ W, &5 a,b,c O H&
T5FH?

@s @-8 @12 @®-12 616

f() = (x=a)(x + B)P(x) + x+2++- @
= (r+h)(x-)Q(N) ~x+4:: @
= (r=)(x-@)R(x) @

v 7] el ofa

i) @A fla) =a+2, @ oA

fla)=0
=>a=-2

i) @ oA f(=b) = b+ 2, @ oA
f(=b) =b+4
>b=-1

iii) @ oA f(c) = —c + 4, ® oA
fle)=0
=>c=4

S.abc =8




S 10 & (x-2) 2 hsmlel $:& o), Ui Rol2 B
o, FS % f(x) & Br-22 S Uo] B} oA

@ Q(x), R @ 3Q(x), R ® Q(x), 3R

@00, k ® 0(x). %R

_ (3x—2)%Q(x) 4R

olmz 7o Tt LA
%200 oA R




oA £(x) & A2 a3, 0+ 12 e ol 2L, f(1) = 02 1,

f{(j) = % (m, n-& A2A)olth, o] W, m+n o] FHe Fatolat.
> E
> " 34

B

f(1)=0°l82 f(x) Ex-12
o f(x) = (x=1)(ax+b)
f(3) = f(-1) ©1B& 2(3a + b) = -2(-a + b)

a2 Zte.

Soa=-b
f(4) _ 3(4a + b) —9p _g

f(-4) -5(-4a+b) -25b 25




x ) TFA f(x) ol tHate] £(x2) = 2% f(x + 1) - 26 4 207 0] HH T
F(x)E T (D, £(0) = (1) = £(2) =0)

(1) F()% 2] Alolatat
ZHH :2n 2= n 4 32}
Lon=3
(i) f(x) =kx(x—1)(x - 2)(, k £ 0)
(2 £(0) = (1) = £(2) = 0)
P = kxS — 3kx? + 2kx?
S =k — (k+2)x* + 222
o kx® = 3kxt + 2kx? = kxS — (k + 2)x* + 2x2
~3k = —(k + 2)
k=201 k=1
S f(x) =x(x=1)(x-2)




xo tigh E]'; FA (14 x—x2)10-& Z7HoA ag + a1 x + azx® + azx® +
ol W, ap + ax +ag + -+ + a2 F2? (E’,ai%
1, 2,---,20)

@210 @210_1 @2

@1 ® 0
B ~

(1+x—x%)10 =ag + a1x + asx? + azx® + -+ + aox?* °| B2
x =12 tigstd

l=ao+ai+az+-+ayg+axy Q

&, o] e x = 12 I5ta
l=ay-a;+ay—--—apg+ay O

Q@ +O= 5P 2 =2(ap + az + a4 + - + ax)

L agtaztagt---tayp =1




10.

oz U (x=3)%(x+3) 2=
= U R]=?

@ (x-3)2 @ 3x* +2x-5 ® —(x-3)?

@ x*+2x-5 (@)%(x—?))Q

£(=3) =4
x=3)%(x+3)Q(x) + ax®> + bx + ¢
3)2(x+3)Q(x) +a(x-3)%(. f(x)= (x-3)22=2




